Gopas, | MRS ESETA KR A 2025/09/07 i
B4 R A B A = SRRk R ALk AT
B il SRR R 2 b R S M P R B RS /74
R #&H 1z 2fL 3fL [A 50 6L ThL 8L
VERT 9H7R 100m Ve B 12.54 (-2.5) |3 Pe(1) 1271 (-2.8) [## [ (1) 12,77 (-28) | 1A (1) 12.93 (-25)|[#2A FEARB(1) 13.05 (-28) i A &—(1) 13.23 (-2.5)| il F##s(1) 13.36 (-2.5)| P EF fiffi(1) 13.40 (-2.5)
E4LS LY TR EScS Kith BRI i KL=
9f6R 1500m TR FHER() 4:4059 |2 HFZE(1) 4:4300 |5 H BEQ) 4:4330| BB H§ZE(1) 4:50.35 |71l A1) 45277 |fEH EC(1) 45291 [4L)11 KAED) 4:53.90 | g Edk) 4:57.97
Kt Al [ e IR EhTA SRR HkfH
ERT 9H7R 100m e @) 11.30 (-0.8)| M 45Ai(2) 11.84 (-08)|JHT F#(2) 11.85 (-0.8)[EH I AFHQ) 1211 (-08)| )5 fE51(2) 1219 (-08)| A 4hifiE(2) 12.26 (-0.8)|/Inith HEHi(2) 12.28 (-0.8)|HEHE AI#i(2) 12.34 (-0.8)
AL GR| K BER e E = AE AL i
9R7RH 1500m Ta—v HHHE) 4:24.93 | HF HESE2) 4:25.71 |7l H(2) 4:2693|{fix Q) 42971 |5 WEFHQ) 4:31.47 [ F A HIE) 431.77|0HE HAQ) TR HRQ) 4:32.64
e AL Al K RER SRER GLE AL
9f6H 3000m R Kak2) 9:40.80 | FEH () 9:42.78 | 45 51 1(2) 9:52.37|H HE(2) 9:55.56 | )11+ 1(2) 10:00.85 [T fLH(2) 10:02.53 [#F K K(©) 10:11.49 475 SEH(2) 10:11.70
il &I BER GLEM K GLEM A% [N
Lot | ogen 200m TEHE Q) 2274 (-08)[ 10 #(2) 23.07 (-0.6) [ HEE2) 23.74 (-0.8) | f&75(2) 23.78 (-0.6)| 'L FHAHR(2) 23.90 (-0.6)| A FEfQ2) 24.28 (-0.6)| 1 FET(2) 25.04 (-0.6)| % A5 k(2) 25.07 (-0.6)
Elios) AL BER K T )1l )1l 7
9RTH 200m ik #AQ) 53.10[2 #4r(2) 5328\ A HeR(Q2) 5472 ks BEH2) 56.20 (A [5(2) 57.28[FH 15(2) 57.95|ith 4% (R7:(2) 57.96 | (R 21EH©) 58.06
[N GEE )11 T DS e EN Hkf
9H6R S00m A S0 2:05.63| 7 —~ #iLI2) 2:07.75|ifi £ iHAQ) 2:07.80 | KE Q) 2:07.97| M WEFHQ) 2:08.08| /il 3#(2) 2:0855|ffix #Hi%E(2) 2:0977|4 % W) 2:10.33
GLEE Fal NG K RBER Al KI5 e
9RTH LLomi I BAR@) 17.37 (8| R FHAREEQ) 17.90 (-33)[&E3E i ABB(2) 18.87 (-3.3)| T JAK(2) 19.34 (-3.3)| 5% ifEH(2) 1956 (-3.3) [N HTAHE(2) 19.62 (-3.3)|#2J7 FTAH(2) 19.75 (-3.3)
T Patd fam &I 1 L Ae
i) 46.54 4% 4752 [Fk A 47.69 |k 47.93| %1 48.03HEFL 48.08 SRR 48.18 i) 1| 48.33
EH FIQ) JEIR BH2) EHHOFER) R 2) [l Q) g fEKR2) L RHEER) W Rk
9ATH 4x100mR |5 1H4(2) N HEQ1) T Q) e R FHEL(2) A FERE(Q) BOEKRE) I g (2) KIMF - 52)
IR TLRHQ2) T B —2) RAEE E1EQ) Hi JEE2) B EHE) IR Hk(2) i MEA2) B HEFR)
HE KHHQ) 1 Q) A HOFEER) A 187 (2) i wif=(2) Ea Sx0) s FE2) A HER2)
9578 ik JIE BEREI) 1.69 )1 Flz(2) 157|E M HEE2) 1.48|REF §1(2) 1484 BER(1) 140/ GHE) 1.30|HEF A1) 1.30 | &k IHE(2) 1.25
ARIE [EFM JkA fE KILsF A% [H KIS HEAL
9R6H ek Pl SRE) 260[HAk HiA(2) 240
GLEM GLiE
0fi6H f— A HERE©2) 5.89 (+0.6)|{&ATH EfH(2) 5.82 (+1.5)| &k fEKR(Q) 5.77 (+1.6)| il KFHQ) 5.69 (+0.2)|%#H MEA(2) 5.37 (-0.4)|ffiA BEHR(2) 5.30 (+0.3)| At (2) 5.28 (-0.8)| 7k % £ R(1) 5.18 (-1.1)
B JEkf )14 Aetp= RES Elioa) oL AEL
9R7H g R 2@ w1247 (2.8)| EE HEAQ) 11.97 +0.5)|fA # +(2) 11.88 (+05)[ & H [/ 4r(2) 11.86 (+1.9) | fiA 2EHR(2) 1142 (+1.6) [ HEFQ2) 11.07 (+0.5)| 22 MEA(2) 1097 (+1.5) [/ HEFIQR) 10.79 (+1.4)
EeLig lIES Tk i Elioa) PNIIES REER FEF
9R7H L EEPIE S (0] 1096 /N 1 1:(2) 9.86 | 1Al FREQ) 95755 M  HH(2) 9.35 (42 KHE(2) 858 |iTHE HiAk(2) 8.26|fifiM 15:4(2) 8.16|f@ AEF(1) 7.51
RIEE Ll B2 Ll I REER FEF Eleioa)
9f6H Mg S AEE) 27.63|FAL FRH(2) 27.26 |fAM AREQ) 2504 K% HUik(2) 23.24|H fIRQ2) 21.01|f&H AEH1) 20.73 | M 15242) 20.70|3THE HiRk(2) 19.90
L REE B2 Ll NI Bl FEF SEER
WFEFEEE  [FEE faREE) 1679 =% Zih@2) 1585 | V% 1H(2) 1272| 58 HRFE2) 1223|#ZJR BLAH(2) 1206|4711 (1) 1066 | 47[  HIF(1) 623| %7 BHK(2) 585
@ Bl fa PiRNE Bl RERER RERER kG
9A6H 110mH 17.50 (+1.4) 20,00 (+1.4) 2113 (+1.4) 20.64 (+1.4) 19.25 (+1.4) 20.26 (+1.4) 22,62 (+1.4) 22.28 (+1.4)
9H6H L 6.93 9.39 743 6.12 6.84 6.71 6.12 5.37
9A6H Bk 1.40 1.45 1.40 1.35 1.30 1.30 NM NM
9A6H 400m 57.94 59.37 1:01.72 1:00.88 1:05.42 1:07.36 1:07.47 1:08.02

GR:K&Fiék

wiBESE NM:ALEkRL




